oboooooooobood
gbogbooboooboobo

gobbooogbbbuoooobobo ob

gbood,bogbbuoogbboobbuooobbobobbobbooobban
oobooboobooboo. oboobooboD M, =2n—-10000000000O0.
gbo,gbobbuogogbbbuoooobbbooob.bboooobbboooob
ooogo.

OO0 (Dooooo0).p0p=3(mod4)000000000. O0ODOO,00000
OM,O0000,000000:

M, tS, (1<"k<p-1)=M0000,
M,| S, =M000.

000, {S}08 =3, 85,1 =5-2(r>1)00000000000.

gboubggbbuooob,goboobbuoobbuoobbuooobooobbao
goobooo,bboobb,bbidgdo,gubbobobboboddooooooon
go.

gbbboooobbbouooda,bbuoooobbbo.

00 18. 000 p(#£5)0000000O0O0OO:

p—1

52 =1 (mod p) & p ==l (mod 5),

p—1

572 = —1 (mod p) & p= =42 (mod 5).

gbboodgbobbooobbooobbbuooobbo.oobbo,gobbodaao
gbobobuoogobboooobobuoog,bboooob,ogoobboooon
gbooog.

O0,0000 1800000000000 0000000 pOp=3(mod4)0000
gbobobuoooobb,ogbbbboooobbbuooobobb,o0obbboooon
oboobooboo.

00.pO0O0000O,
M,|S, & M000.

000,{s}08,=4,5,,=5%-2(n>1)00000000000.



